NSK Z|L|0j7}0|E"

1. X|+=H
NH-AN (13t=8, Standard, Ztg)
NH-BN (Z15FE2, Long, Zd)
(1) oY= EE e
NH 30 1200 ANC2 - P5 3
A=Y T 027 |=(5page, 9 F)
0:20,1:24,3: 23, T:Z1,Z:7Z, H:ZH
ALO|=
ME7|S (5page, ® 9 &1)
HYZo| (mm
A‘|71| = I:ll_-|§
HIHE &el71S (3page, I 2 1) ESH0] 7 [XHEI0] USLIC.
M2-HHX2|7|S (7page, E 15 &) 2 170 HIo )
C: ELTDEAZE (NSK BEEXH) K @ AH|IQIHAKXY
(2) MW E (2etE ) H
Hlo{2 £HE S NAH30ANSZ K
HoE HE A2= 7S ‘ ZM7|5
NAH : NH Al2|= Hjof2l B - KINSKKI H=&E
—F: BASIMRIZEZZ+ AS2 12|A
AfO|= —F50 : BASMRIAZE 2+ LG2 TI2|A
HIo12 F471S (3page, 2 2 E11) oS
2715 0[EME . Z: Dl0IYE  H : BOIUE
WENS
275 : ESTEAY (BEX) S AHQIAXY
ausgs  N1H 30 1200 LCN -3 PC Z
HYHEAERT S ‘ T 7=
N1H : NH A|2|= otz T:O0|IEME, Z: D[6ILEEHLSS)
AO|= =71z
P TYZ 582
HLZ0[ (mm) PC: Uil 532
HAFHS
gegEdrls L FEFHO] 7 [HEl0] ASLICH
L:E= *HANYT S
MZ-EHX2Z|7|E (7page, H 16 E11) NG HISENG, L EEAE
* AR Y QTA|0= NSKO| 22J3 RA|7| HEZHLCY,
2EIEX | HIHZIX |4
S4Al =0]| = | Zo| XY Je2ALIE 2 | 2
=0 Z | =0]
H E W, w L B J MxI|x|x ¢ L, K T AX|FH T; N W, H;
NH15AN 55| 39
NH15BN 28 4.6 9.5 34 71 26 26 M4x0.7x6 58 23.4 8 $3 85| 3.3| 156 15
NH20AN 69.8 36 50
NH2Z0BN 30 5 12 44 918 32 50 M5x0.8x6 72 25 12 | M6x0.75| 5 " 20 18
NH25AN 79 35 58
NH25BN 40 7 12.5 48 107 35 50 M6x1x9 86 33 12 | M6x0.75| 10 |11 23 22
NH30AN 85.6 40 59
NH30BN 45 9 16 60 124.6 40 60 M8x1.25x10 98 36 14 | M6x0.75 | 10 " 28 26
NH35AN 109 50 80
NH35BN b5 95|18 70 143 50 79 M8x1.25x12 14 455 | 15 | M6x0.75 | 15 1 34 29
NH45AN 139 60 105
NH45BN 70 |14 20.5 86 171 60 80 M10x1.5x17 137 56 17 Rec1/8 |20 |13 45 38
NH55AN 163 75 126
NH55BN 80 |15 23.5 | 100 201 75 95 M12x1.75x18 164 65 18 Rc1/8 21 13 58 44
NH65AN 193 70 147
NH65BN 90 | 16 315 | 126 253 76 120 M16x2x20 207 74 23 Rc1/8 19 |13 63 53

HIZ 1)AHQIAKY HOZS| et BEM et U ChELICH

9| NSK



NH Al2|=, NS Al2|=

AN-BN & HHE Mro ANSE ESHE —
—
N L
w | 4-Mx2 Ly
B J

T o0 " gh

|
o

od
W> Wi F
G nXF @)
Lo
BNE EH= ) L
Ly
J
Ty — —r
oD oD
v N
SEE HZEHE
ANCBNE AN & e BN &
/O\;
(N) L (N) L
4-MX 0 Ly Ly
B J J

SEHE yYctE 2
T i
] |_rﬁ 5 =l —
\ I
od
F
G nXF @)
Lo
CH2| : mm
e JERERES =
R | HXEeTd | G |A0Zol|  755A 57 HOHEN-m) W0 | a2
B LOmax [50km] [100km] CO MRO MPO MYO
F dxDxh (B1)| (JLHSUS|  Cso(N) | Cigo(N) (N) HI2IxT | HO{2Ix2 | H{2IxT | Ho{2ix2 | (kg) | (kg/m)
2980 | 14200 11300| 20700] 108 945|575 | 795| 480 | 0.18
60 | 4.5x75x5.3 120 | 1ang)| 18100 14400| 32000| 166 | 216 | 1150 | 181 965 | 0.26| B
3960 | 23700| 18800 32500 219 | 185 | 1140 | 155 955 | 0.33| 4

60 | 6x3.5x85 120 | 3500 | 30000| 24000| 50500| 340 | 420 | 2230 | 355 | 1870 | 048
o0 tixa |20 | 3960 | 33500| 26800 46000| 360 | 320 | 1840 | 267 | 1540 | 0.55| oo
(3500)| 45500| 36500| 71000| 555 | 725 | 3700 | 610 | 3100 | 082| =
60 | ox14x12 |20 | 4000 | 41000 32500| 51500| 490 | 350 | 2290 | 292 | 1920 | 077 .,
(3500)| 61000| 48500| 91500| 870 | 1030 | 5600 | 865 | 4700 | 13 :
62500 49500 80500 950 | 755 | 4500 | 630 | 3800 | 15
80 | 9x14x12 120 | 4000 | gy 600 e4500| 117000| 1380 | 1530 | 8350 | 1280 | 7000 | 21 | 72
107000| 84500 140000 | 2140 | 1740 | 9750 | 1460 | 8150 | 3.0
105 | 14x20x17 12251 3990 | 133 900 | 104 000 | 187000 | 2860 | 3000 | 15600 | 2520 | 13100 | 3.9 | 123
158 000 | 125000 | 198000 | 3600 | 3000 | 16300 | 2510 | 13700 | 4.7 | 15
193 000 | 153 000 | 264 000 | 4850 | 5150 | 26300 | 4350 | 22100 | 6.1 :
239000 | 190 000 | 281000 | 6150 | 4950 | 27900 | 4150 | 23400 | 77
150 | 18x26x22 135 | 3900 | 330000 | 246 000 | 410000 | 8950 |10 100 | 51500 | 8450 | 43500 | 10.8 | 2*3

2) 7|2HASIES ISOTZ(S014728-1,14728-2)0f| =75t 222 E|of UBLICE
Cso : HALZ4E0] 50km7t El= 712 SHH 5K Ciop - FALZAHO| 100km7} E|= 712 SYAGES

120 16x23%x20 |30 3 960

NSK |10



